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| B 4 X 3)%2‘?; D) fﬁ’lfé% 8A1 1?5.(;?) 121??5. (;i) oy f]f X N
Ao | K AVE | abes | RV | Aber | E AV | Rbe | K AVD

1| FERRER | (EEX) 80 20 80 19 81 18 85 15 57 80 |81.5 | 85
2 | B 0% (FHIEX) 89 14 89 3 85 12 83 19 45 83 |86.5 | 89
3| ERE O BE (B T-1X) 87 17 87 10 82 17 88 11 45 82 [86.0 | 88
4 | Ak MT Gk X 86 18 86 14 89 0 90 8 40 86 |87.8 | 90
5 | FA——= (FHEX) 97 0 88 8 85 12 83 19 39 83 |88.3 | 97
6 | Hf T () 87 17 81 20 37 81 |84.0 | 87
7| RE BT (FBHIX) 88 15 89 3 93 0 83 19 37 83 |88.3 | 93
8 | EM B | (FEIIK) 92 10 83 18 86 7 93 0 35 83 |88.5 | 93
9 | shREmE (F X) HHI R 83 18 90 0 84 16 34 83 [85.7 | 90
10 [ REBHAHE T  @EHK) 98 0 86 14 78 20 96 0 34 78 |89.5 | 98
1| sAFRs (% X) 93 4 88 8 78 20 92 1 32 78 |87.8 | 93
12 | R EE GRS 85 16 83 15 Jetk 31 83 |84.0 | 85
13 | Ak =& e ) 83 19 92 0 85 12 BRI 31 83 |86.7 | 92
14 | NL fEF (F X) 89 14 85 15 29 85 [87.0 | 89
15 | MAERT | GERIK) | 102 0 82 17 87 12 29 82 190.3 | 102
16 |FREE#DT| G X) 92 10 86 14 91 0 91 5 29 86 90.0 | 92
17 | B Al (HsmX) 96 0 88 8 85 12 91 5 25 85 190.0 | 96
18 | IR X 92 10 HFHIR S 83 15 FHIR G 25 83 |87.5 | 92
19 | /INEEET (B RLIX) 96 0 86 14 88 0 90 8 22 86 [90.0 | 96
20 | WEEF HAE | (RLsBX) 75 20 20 75 |75.0 | 75
21 | HH & | R, BK | 91 11 98 0 88 0 90 8 19 88 |91.8 | 98
22 | W BT (B %) 90 0 84 13 91 5 18 84 |88.3 | 91
23 | W @ (LX) 94 3 89 3 92 0 89 10 16 89 [91.0 | 94
24 | B KT (HERE 1) 101 0 85 16 16 85 193.0 | 101
25 | WBRHEDL X (R X) 98 0 92 0 88 0 85 15 15 85 [90.8 | 98
26 | BEEAES | (RLyAK) | 106 0 88 8 86 7 93 0 15 86 |93.3 | 106
27 | Ky x=x (WA X)) 98 0 96 0 85 12 93 0 12 85 193.0 | 98
28 | BHEET (%) 90 12 92 0 88 0 95 0 12 88 [91.3 | 95
29 | 1Ll TS T FBHLX) 97 0 87 10 87 1 FEIR Y 11 87 [90.3 | 97
30 | pHETET 7 X) 109 0 92 0 HHIK G 89 10 10 89 [96.7 | 109
31 | KA T (e x) 92 10 94 0 97 0 10 92 [94.3 | 97
32 | ZVHRF (FHER) 94 3 FHIK S 86 7 FHIK G 10 86 90.0 | 94
33 | ZHBEHET (IR X) 92 10 94 0 91 0 10 91 [92.3 | 94
34 | FHE GIENFY) 92 10 91 0 10 91 |91.5 | 92
35 | #ARFEMAL (e x) 99 0 88 8 93 0 8 88 [93.3 | 99
36 | BAEET (&RX) 96 0 92 0 86 7 93 0 7 86 [91.8 | 96
3T | EBEAHET JB X 102 0 91 0 86 7 99 0 7 86 |94.5 | 102
38 | EHIEHZE & X) R RS 95 0 86 7 100 0 7 86 |93.7 | 100
39 | #E T (FLEX) 95 01/28—L 1 91 5 6 87 [91.0 | 95




40 | UER T (5 FLIX) 102 0 89 3 90 0 95 0 3 89 94.0 | 102
41 | ER HT (h X) 100 0 89 3 98 0 3 89 [95.7 | 100
42 | RiIaTET (e x) 94 3 91 0 99 0 3 91 [94.7 | 99
43 | METHEHT (WA 1) 94 3 HHIK S 99 0 3 94 196.5 | 99
44 | JkKH OB (HBHL) 102 0 88 0 93 0 0 88 94.3 | 102
45 | AT (7 X) 88 0 93 0 0 88 [90.5 | 93
46 | HiE ET (FHIX) FHIR S 92 0 91 0 93 0 0 91 |92.0 | 93
47 | BB KT | BRtrsX) | 104 0 95 0 91 0 93 0 0 91 |95.8 | 104
48 | B R (HER) 97 0 95 0 0 95 96.0 | 97
49 | KRB BT | WHEIK) | 102 0 97 0 94 0 96 0 0 94 |97.3 | 102
50 | H)I T (A ) 96 0 92 0 97 0 0 92 95.0 | 97
51 | /MR HIZE (B %) 107 0 101 0 97 0 0 97 |101.7 | 107
52 | A Hm (B HIX) 107 0 90 0 98 0 0 90 [98.3 | 107
53 | #IF BT FIEX) 96 0 98 0 98 0 0 96 [97.3 | 98
54 | 1A T Gk X 99 98 0 0 98 |98.5 | 99
55 | Bkl #Hir R X 102 0 92 0 99 0 0 92 |97.7 | 102
56 | LIRS Gk X) 97 0 91 0 100 0 0 91 [96.0 | 100
57 | BREDH (B X) 103 0 104 0 100 0 0 100 [102.3 | 104
58 | KEFEMZE (FHKX) 101 0 107 0 95 0 101 0 0 95 [101.0 | 107
59 | BZOIL (B 1X) 98 0 101 0 0 98 [99.5 | 101
60 | W &+ e X) 102 0 0 102 |102.0 | 102
61 | HMJNET R X) 105 0 95 0 90 0 103 0 0 90 [98.3 | 105
62 | & BT (B RLIX) 104 0 98 0 102 0 104 0 0 98 [102.0 | 104
63 | HERLTT (LX) 97 0 93 0 105 0 0 93 [98.3 | 105
64 | tRiH HF (LX) Y H R FEME FHIR S 105 0 0 105 [105.0 | 105
65 | @i BT (FHEX) 97 0 94 0 95 0 108 0 0 94 |98.5 | 108
66 | dbkr = (& X) 105 0 102 0 109 0 0 102 |105.3 | 109
67 | HEAEHET (A X) 97 0 96 0 FaixR G 0 96 |96.5 | 97
68 | HHILET (FERX) 104 0 108 0 100 0 HHIR G 0 100 [104.0 | 108
69 | BEX Al | Ry BK) HFHIRY: 0 1000 | - 0
70 | UREF OAE G ) 93 0 89 0 0 89 |91.0 | 93
1| KR RT 7 X) 99 0 97 0 91 0 0 91 |95.7 | 99
72 | AFERREE G X) 96 0 0 96 |96.0 | 96
3| BTV AT H X) 103 0 97 0 0 97 [100.0 | 103
4| TR KT Gt ) 102 0 0 102 |102.0 | 102
75 R’ T FBHIX) 98 0 98 0 ENipe 0 98 [98.0 | 98
76 | R BT | FRER)IX) 97 0 96 0 0 96 [96.5 | 97
7| =R (HEFE ) 96 0 0 96 [96.0 | 96
78 | WO G K Y H R HHIK G 0 1000 | - 0
79 | MEEERET | HHIX) 97 0 0 97 197.0 | 97
80 | IR P A 116 0 0 116 |116.0 | 116
81 | &#H T HHEX) R 0 1000 | - 0
82 | MA Fnr (FHERX) R RS 0 1000 | - 0
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